SELL ORDER

trend start - opening time
1.2125-1.2126=0.0001 (- 1pips)

ALL OK. In this situation
difference will be with "-".

EA should not convert “-" fo "+

won

as possible in EXEL with ABS function.

-1 pips

trend start

1.2125

1.2126

SL(main) = 1.2175

-25pips

SL(main)
SL1=-15pips

order opening

-25 pips

check point 30pips

]

max T pips

check point

NT12095

BN

check point
not reached
order VALID

opening fime

14:00

order valid

it does not matter

TP(main) = 1.2105

closing order
wiht TP(main)

that now reached check point
because ORDER already valid
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